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1 pONY
(TPDONPY MNPN Yond

int what(char* s)

{
if (*s == "\@")
return o;
if (*s >= 'a' && *s <= 'z")
return *s + what(s + 1);
else
return what(s + 1);
}

15="aAbC” TN DY MNPNAN NYIN INNIN PN D N ('P2)

AOPIVIRN DIPNN 237 DNPNND W2 ,1PSPNON NYSIN NN TON VOWNT IND .2 ("P) 5)
(777952 TIPS 557 1201Y YH2) PRTIAYN NN NYNaN 3PN PN PADNY YH3)

RN TPDONPIN IIPNAN NN IAND ) (') 13)

void fillArray(int arr[], int size)

D>251 12 DINYKRIN DMIDN NV PV arr oNov 090N Hw TwWn noapn 3PN

72V 72,2 DPTINA VNN 9NN TIWNN MR 20 NN NINN P8P .size 19T , D0y
A5V DIVDNR MW DIID NN 939> 91N

DT
int arr[10] = { 1,1 }; ITVnN May

 DIRIAN DIIWN DY NPNZ NN 1ITYN 8PN
{11235813213455}
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bool isMatrixHasSquareAscendingValues(int mat[][SIZE],

int rows, int cols);

19) (NWH M12PD YT SIZE »5 noany ) SIZEXSIZE N mTnny N8MIvn N2apn mspnan
SIZE Tmn MMV Nnd TN rows Tuni9n SIZE -n op 039y D NIV, D0V DIJDN NY

NNIVNI MTINY SIZE 7NN MTIY NNd TYN cols 10NI9M LI wa N¥IVHNN MY

Rkl ]

TN 2N HND DITHIN DN NPT DD ONONN MNP

APURIN 12X 1awn> mat[0][0], mat[0][1], mat[1][0], mat[1][1] : D12>XN ,IM5D)
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(MINN NIV NN DPDIY NNNDN NNV NP
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:main ono
void main()
{
Aa(3);
a.show();

cout << M----aoo-- \n";

B b(4, 5);
b.show();

cout << Memeaoonnn \n";

A* ab = new B(6, 7);

ab->show();

classeson B A

: PIDINN NXIN VIS PNY

2131 0790 MY NT Main H¥ INPPI MMINNNI MPINNN NN 1INY DY
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class A
{
protected:
int x;
public:
A(int x) : x(x) {}
~A() { cout << "In A::~A\n"; }

void show() const { cout << "In A::show(const) x=" << x << "\n"; }

virtual void show() { cout << "In A::show x=" << x << "\n"; }

virtual const A& operator++() { x++; return *this; }

1

class B : public A

{

public:
B(int x = 3) : A(x) {}
~B() { cout << "In B::~B\n"; }
void show() const { cout << "In B::show(const) x=" << x < "\n"; }
void show() { cout << "In B::show x=" << x << "\n"; }
virtual const A& operator++() { x += 2; return *this; }

};
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void main()
{
A al(3);
const A a2(4);

++al;
al.show();

a2.show();

B bi(s);
const B b2(6);

++b1;
bl.show();
b2.show();

A* a3 = new B(7);
++(*a3);

a3->show();

delete a3;
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5 NINY

2307 ,NININ TINNN T HY INPNY NIIND NN INNDD DYIN 17N VYWY N ('P1 10)
.STD_LOGIC pypna BIT -2 mmxm 93 NX TN 107 OXN

library ieee ;
use ieee.std_logic_1164.all ;
entity test51 is
port (a, b :in std_logic;
x0, x1, y1, y2, z0 : in std_logic;
X, Yy, z : out std_logic ) ;
end test51 ;

architecture test51 of test51 is

begin
x <=x0whena=Dbelsexl;
y<=ylwhena<belsey2;
z<=z0whena=belse'Z';
end;

NN
p>1y ,Tri-State 1057 ,gated Latch 072357 ,0>771,0YY DN YVIN NI TMWYID DYDYV DX2XDIN

H131 D191 Y92 WRNYNY TNN PR .DYDIN PID XNNN DN
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.gated Latch 2Py >nn 920m

entity test52 is
port (a, b, c:in bit;

X0, y1 : in bit;

X, Y, z:out bit);
end test52 ;
architecture test52 of test52 is
begin

x<=x0whenc="1";
process(a,b,c)
begin

if a <= b then
y<=yl;
end if;;
end process;
process(a,b)
begin
if a <= b then
z<="1";
else
Z8="0"
end if ;
end process ;

end;
NN

™0, Tri-State >10>9 ,gated Latch , 00997 , 02 ;DY DN YINdNDI TMVID DITOIYY DY
231 D290 953 WHRWNY TN PN .DOVIN P99 NNN oN

13 7inn 8 7y



2018 - N”ywn AN TYIN 90729

6 DONY

: TINQD TPIDIND T DY ININNN NADIND 2390 v (RTL) 7005 nndo 98 N (') 8)
library ieee;
use ieee.std_logic_1164.all;
entity taré is port(
a,b,clr,pre, clk : in std_logic;
outl : buffer std_logic;
out2 : out std_logic);
end taré;
architecture taré of taré is
signal input : std_logic_vector(1 downto 0);
begin
input <= a&b;
process (clr, pre, clk)
begin
if clr = 10’ then outl<='0;
elsif pre = 10’ then outl <='1’;
elsif rising_edge(clk) then
case input is
when 7007 => null;
when 7107 => outl<="1/;
when 017 => outl<="0/;
when 7117 => outl<=not outl;
end case;
end if;
out2<= not outl;
end process;
end;
nwn
D>, Tri-State v1°57 ,gated Latch 029397 ,0°1M2 ,0yw DN WIDONI TMYIY DTV DY2970

910 ©Y21>971 992 WHRWNY TN PN .DXOINY PAD SNNN ON

210 NN DY NYawn end if »aY out2<= not outl NXNNN NN PN 10N .2 ('P) 4)

SN Pyoaw N0 May FULL TEST BENCH 25 . (') 8)
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Qf) | o | @ | T | T [T | |0 |0 | 0|0
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72710 WD clkl , clk2 MMXD MY DX AN TWNI DINDDY TN IPNY TONN 1IN0 N (') 10)

D90 PN PYNINA

clk1 | , , | | , : | | , >
Tt N S s A SN S AN AN SN I
100 200
Ns -2 NI YA PN :DWN
(TINO NAYD NNINN NPRY NI INNND KIN TIPN YOP .2 ('PI 10)
process
begin
output <='0';
wait until clock'event and clock ='1';
output <="1"
wait until pulsel'event and pulsel ='0';
output <='0";
wait until pulse2'event and pulse2 ='1";
output <="1";

wait until clock'event and clock ='0';

end process ;

.output MMM pulse? ) pulsel , clock MNXIPIVY MDD WIDY ¥ NOWYND

.output MNM NN I MPNIAN NIANNKT NIRIAN ORI NHPVNT NN PNYN

clock

pulsel N LY E—— . ——

pulse2 -——J [MLM-WWM lw
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: N2N PN NOWNN

D Q+——e (dfs
FF

= CLR

qf

|
dn e——D Q D Q {>o—!_> * - ar
FF x1 FF x2 L
f = CLR = CLR D Q $ o
FF
@] f (@)
¢ ° = CLR

resetN ‘ (B

clk

din, clk, resetN : nyan -
qfs, qf, qr, qrs :xxM -

mHvn

PN DMNINNY YR VI, DYDY MNIN IN DINVYNI YNNYNY NMONX -
DX PN DIDMIVIY MNIND DY MNY1A YHNYND NOXR - -

BUFFER -y INOUT ,0OUT ya 572nn nX N18p2 9100 .2 (P31 5)
(VHDL -2008 -5 D) on»ni)
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S TINN NIV 99 TN D NON 19397 onY VHDL-2 nnd»n 7700 200 .8 () 5)

INPUTS OUTPUT
CLR CLK D Q
0/ -1 -1 107
BT 1 0! 0
3T $ 3L 3T

Aony VHDL-2 nnon 12351 2105 ,COMPONENT -5 /X pyon 25590 ntya .2 () 15)
: N2 PNV 20N

Qr——e (qfs
FF
CLR
O
'EE ) ® (f
| N
dn e——D Q D Q Doi/ ¢ a
FF x1 FF X2
= CLR = cLR Q o o
f O f O FF
clk [ @ ® CLR
resetN ® 9

din, clk, resetN : N2an -
gfs, gf, qr, qrs : N8 -

.D>2>9771 M9 7N2Y DXADN MININI WHNWND NON : NN

InNb8Na
V7N1RY MY MM 20

13 7ion 13 7y



